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10.

11,

12,

13.

14.

15.

Which plneo tho "Moo nyntom of wiring'
is mosl suitnblo

(A) Godown wiving

(D) Industrinl wirving

(C) Domoentic wiring

(D) Multi storied building

‘Nn].uu' Singh Internationn] Stadium
18 situnted in tho district of
Haryana,

(A) Gurugram
(C) Rohtak

(B) "avidabad
1) Chandigarh

|
What is the effect of cloctrie curront on
neon lamp ?
(A) Hoating clfect,
(B) Magnetic effeet
(C) Chemical effoct
(D) Gas ionization offect

When a fair coin is tossed 8 times, the
probability of getting all tails or nll heads is

(@Y B)

e Ll -
e x|

©) (D)

Which of the following rivers . ¢n below
is/are the tributary/ies of river Ganga ?

(A) Mahananda (B) Yamuna
(C) Ghaghra (D) All of the above

Why the core of current transformer is
having low reactance and low core losses ?
(A) To minimise the error in reading
(B) To prevent high static shield

(C) To maintain constant output

(D) To minimise the burden

At which place the battle between General
Lake’s British forces and Marathas took
place on 6 September 1803 ?

(A) Pratapganj (B) Hisar

(C) Panipat (D) Gurugram

—
—
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1
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14.
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Which of the following 18 the adv!
.l l 1] .
16 McBY .
A) Faulty circuit
(B Supply ean be
(©) Tamper Proof
(N All of the nbove
der is producud by the

is casily identified
quickly restore

~ pleaching powW
1 of chlorine on dry

action
(:t) Ca(OH), (B) CaCO,
(©) Ca0 (D) CaSO,

oscope usually consists of
(B) Amplifiers _
(D) All of the above

An oscill
| (A) Attenuator
(O) Trigger
On 24 October 2015, Haryana Government
announced to start Sanskrit University at '
(A) Vidhan Sabha
(B) Ambala District
(C) Rohtak
(D) Mundri Village

What is the name of this hammer ?

\) Claw hammer

3) Ball peen hammer

) Cross peen hammer

)) Straight peen hammer

father tells his son, “I was of yourl
esent age when you were born”. If.
ther’s present age is 36, what is son's

e?
) 25 B) 27
) 20 D) 18

e distance between two adjacent teeth
hacksaw bladés are called as

' Specification of the blades

' Pitch of blades B
Designation of the blades
Size of the blades
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23.

24.

26.

27.

28.

29.

30.

In Haryana the Directorate of Wheat
Research is situated at

(A) Gurugram (B) Chandigarh
(C) Karnal (D) Panipat

Calipers are used with steel rules whose
accuracy is limited to

(A) 0.01 mm
(C) 0.6 mm

(B) 0.1 mm
(D) 0.05 mm

The successor of Marata Peshwa Baji Rao 11
(A) Raghoba (B) Madhav Rao
(C) Nana Sahib (D) Narayana Rao

He is considered to be the architect of
modern Haryana. He served 3 separate
terms as Chief Minister of Haryana.
The above lines refer to

(A) Bhajanlal

(B) Chaudhary Devi Lal
(C) Bansilal ;
(D) Om Prakash Chautala

What is the name of the atomic mater
used 1

1 for nuclear fission in nuclear p-

station ?
~ (B) Thori"

(A) Silicon
(C) Antimony 2 (D)-Cad;h .m

Pandit Jasraj belongs to-the

gharana of Hindustani classical music.
- (A) Ajmer

. . . (B) Mewati
(C) Kirana (D) Gwalior
What is the best fire extihguis’her for
lI‘lype HA” ﬁres? .' ire {4

(B) ABC

(A) CO, 5 A% |
(C) Water (D) None of the above |
Shalimar garden in Srinagar of J and K
was built by the Mughal ruler

(A) Jahangir :

(B) Babar

(C) Akbar

(D) None of the above

23.

24,

25.

26.

27.

28.

- 29,

30.

1/2020 (14)
e 4 1 s femmerm . #
fmd _
(A) TEI™ (B) =2
(C), FATA (D) 'rmq;
e & ot wéian TRUaZH 2 |

(A 0.01 mm (B) 0.1 mm
(C) 0.5 mm (D) 0.05 mm
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A Small-Seale Integreation (SS1) chip usod

a1 to have about _ trannistors on n
inple chip.
a0 (1) 80
(M b0 (D) 80

_iathe instrument uged o mensure
imsulation resistance.

32,

(:\) Shunt type ohmmetor
(B3) Multimeter

(®) Series type ohmmeter
(D) Megger

33, In Haryana, HLRDC means

(A) Haryana Limited of Reclamation
and Development Corporation
(B) Haryana Limited Research and
Development Corporation
(C) Haryana Land Research and
- Development Corporation
(D) Haryana Land Reclamation and
Development Corporation

34.  Which rule is used to find direction of
magnetic flux ?
(A) Cork screw rule
(B) Right hand palm rule
(C) Fleming's right hand rule
(D) Fleming’s left hand rule

35. A
certain tasks that help in proper maintenance
of the computer.
(A) Application
(B) Utility
(C) System
(D) Language processor

6. ‘Rana Nimantrana’ is a famous work by
the poet _
(A) Uday Bhanu Hans
(B) Rajaram Shastri
(C) Lakshmi Chand
(D) Khushiram Sharma

software is one which provides

a1,

32,

33.

34;

35.

36.
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37. A Thermometer is an example of an | 87, wmifiex Wﬂﬁﬁmg :
computer since it me ¢ ' e "o F1 ATl
change in mercury luvvil (l:ull:ﬁl?:::::lt:l*vt.ht S oHi] '_qm;ﬁmﬁ >
(A) Anul(]g (B) Digital (A) TATM (B) 161¥
(C) Hybrid (D) Hydraulic () Trzfarz (D) TSI
38.  What is the name of chisel ? 38, @A FTEMAME ?
i d
s
(A) Flat chisel (A). T2 &
(B) Web chisel (B) 93
(C) Cross cut chisel OEGEAZ
(D) Diamond point chisel . (D) BrmE qige 31
39. This wildlife sanctuary is situated near 39, UBTSE ermm :
the border of Haryana, Punjab and HNdmr fEa e
Rajasthan firgard
(A) Chhilchhila (B) Bhindwas ‘Al foaafsen (B) i
(C) Kala Teetar (D) Bir Shikargah (C) =T ot (D) =i R :
40. Unit of conductance is represented by 40, TR N THE @l &
o ST e |
B) U A) Q B) O.. .
C) pn (D) None of’ ©C) pn ™ ﬁgaﬁéﬁ
41. Parsec is the unit of ) 41, TRE____ AR
(A) time (A) 993
(B) distance ®) i
(C) frequency ©
(D) angular acceleration : (D) I =TT
42. What is-the full form of XLPE' Cable ? 42, ‘ToOuedtd ¥R F QU AT TR ?
“(A) Cross Line Poly Ethylene (A) TG 15 el TRe=
(B) Xess Line Phase Earthing (B) Xess AT a1 7ff
(C) Cross Linked Poly Ethylene () g forere aie o=
(D) Excess Length Paper and Ebonite (D) 0T Y TR Trs THHIES
43. The architect of Unification of Germany 43. SN & TehIaRT F NregEr 9
wan : (A) T FL
(A) Count Cavoor B) Hared
(B) Garibaldi
(C) Otto von Bismarck (Q, 3fET J foreeh
(D) Mazzini - (D) HfSF

€ B D
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45.

46.

7.

£8.

Carbon filament lamp is operates at

temperature about

(4) 1500°C

(B) 1800°C

(C) 2000°C

(D) 2300°C

Which of the following Division and District
of Haryana is incorrectly matched ?

Division District

(A) Hisar — Fatehabad
(B) Rohtak — Sonipat
(C) Ambala — Mewat
(D) Gurugram - Palwal

A
provides database services to other computer
programs or computers using client-server
model.

(A) Application Server :

(B) File Transfer Protocol Server

(C) Database Server

(D) Domain Name Server

If 42% of number is subtracted from 61%
of itself the resulting value becomes 3¢
The number is

(B) 250

(A) 100
(C) 200 (D) 300

The largest sugar mill and paper mill of
Asia is located in the district
of Haryana.

(A) dJind
(C) Panchkula

What is the unit.for quantity of
electricity ?

(A) Ampere/second (B) Volt /second
(C) Coulomb ' (D) Mho-
‘Uniform Civil Code’ is policy comes
under

(A) Fundamental Rights

(B) Fundamental Duties

(C) Directive Principles -

(D) None of the above

(B) Bhiwani
. (D). Yamunanagar

1s a computer program that

44.

45.

46.

47.

48.

49.

50.
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51.

52.

53.

54.

55.

This Gurudwara of
! of Haryana is dedicnte
to Guru Tegh Bahadur who had atn;tﬂ

here for 13 da
ys belor TR
for martyrdom re offering himsell

(A) Gurudwara Rajghat

(B) Gurudwara Lakhan Majra
(C) Gurudwara Neem Sahib
(D) Gurudwara Kapal Mochan

What is the part marked as X i
B.H curve ? ikl

+11

(A) Coercivity

(B) Saturation point

(C) Magnetizing force
(D) Residual magnetism

Round Robin scheduiing ter  queisalso
known as sched g
(A) Buffering (B) Priority

(D) Time sharing

(C) Spooling

built a palz'a'ce in Narnaul of
Haryana who was the Diwan of Mughal
emperor, Shahjahan.

(A) Rai Mukund Das

(B) Birbal L

(C) Rai Madhav Das

(D) None of the above

Shifﬁng cultivation is also known as

(A) Organic farming _ )

(B) Slash and burn agriculture
(C) Zero budget natural farming

(D) None of the above

h1.

52.

53.

54.

55.
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56.

58.

59.

60.

61.

62.

1 of Haryana is famously

]T::j'i'ni)ﬁgﬂt:?:u ‘Lion of Ballabhgarh’
<1 -
(A) Rai Bahadur Lala Murlidhar

(B) Noor Samand IKhan
(C) Rao Tularam
(D) Nahar Singh
Which is the immediate life saving care
and support ?
(A) Medieal treatment
(B) Call a doctor
(C) Intensive care
(D) First Aid
What is the theme of the “MILAN 2020
a multilateral naval exercise aimed to
enhance professional interaction between
friendly foreign navies ?
(A) Silent, strong and swift
(B) Mission deployed and combat ready
(C) Synergy across the seas
(D) None of the above

The song ‘Padmavat’ was written by

(A) Bansilal
(C) Ali Baksh

(B) Sant Hardev Das
(D) Sant Atmanand

What is smothering in extinguis’
fire ?
(A) Adding the fuel element to___e fire
(B) Removing the fuel element from the fire

(C) Using of water to lower the
temperature

(D) Isolating the fire from the supply of
oxy;gien by blanketing it with foam,
san 2

Complete the series.

12, 14, 15, 16, 18,20,
(A) 21 B) 25
(C) 22 (D) 23

Which are the alloys of brass sheet ?

(A) Copper and tin
(B) Copper and zinc
(C) Copper and lead
(D) Copper and nickel

, of

-10-

56.

b7.

68.

59.

60.

61.

62.
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63,

64.

65.

66.

67.

68.

69.

Haryana Institute of Gjvi inti
tr:lm.wt{ivudl il; 1999 Iry}rtl(l_- :::Iilng;;';l:l; ::ltllv‘l‘:ri’llg
vintion clubs, i i

was nol one nfmt::f |?"mmm MG
(A) Karnal Avintion Clul

(BB) Hissar Avintion Club

(C) Pinjore Avintion Club

(D) Rewari Aviation Cluly

What is a Type “C” fire ? €
(A) Flammable liquids

(B) Gas and liquified gas

(C) Wood, paper, cloth

(D) All of the above

What should be come in place of question
mark (?)

ABABCABCDABCD?

(A) E B) C

C) A (D) None of these

Where is the hub of making Durries in
Haryana ?

(A) Pinjore (B) Sirsa
(C) Panipat (D) Jhajjar
The condition for maximum effic’ for

DC motor is

(A) Eddy current losses = st i8es
(B) Hysteresis losses = eddy current losses
(C) Copper losses =0

(D) Variable losses = constant losses

In which of the following election the Single
Transferable Vote System is followed ?
(A) Lok Sabha

(B) Rajya Sabha
(C) State Legislative Assembly

(D) None of the above

is used in soda-acid fire
extinguishers. -
(A) Baking soda.
(B) Soda lime
(C) Washing soda
(D) Sodium carbonate

G I

G,

64.

65.

66

67.

68.

69.
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73.

74.

_75.

76.

i intric eeoive
hich of the following districta reco
Vine ) . 3
1\.,.41 roinfnllin Harvynnn :: .
; .“'iﬂl'll' (1Y) Siran
o lRohtnk () Faridnbad
(M o

of n materinl is defined as (he
i SO0 L
hange in vesistance in Ohm (L) per °C rige
o
in temperafure,

(A) Temperature co-efficient
(I3) Temperature effect

(C) Laws of temperature

(D) Temperature constant

The Kallanai dam, the ol
In-use reservoir in India
which of the followi
(A) Tunga Bhadra
(B) Cauvery
(C) Krishna

(D) None of the above

dest and still-

18 builg across
ng rivers ?

Which river isb

elieved to have originated
from the Har-ki-Dun glacier in West, !
Garhwal of Haryanga 2 -
(A) Saraswat; (B) Dohan
(C) Ghaggar (D) Hanumar aga
Find the one which does not - g to the
group. )
(A) Ludo @7r ,
(C) Chess D) Carrom

What is the princi
(A) Sliding

(B) Screw and nut

(C) Rack and Pinion

(D) Worm and worm whee] -

ple of micrometer ?

Which is the correct se quence of operation

to be performed when using the fire
extinguisher ?

(A) Pull, Aim, Sweep, Squeeze

(B) Push, Arrange, Squeeze, Sweep
(C) Pull, Aim, Squeeze, Sweep

(D) Push, Arrange, Sweep, Sequence

70.
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71.

78.

79.

80.

81.

82.

What \w:rill bo coma in the place of question
mark (?)

&

(A) 729
(C) 306

(B) 4
(D) 343 -

Whichof the following is/are the ndvantage
of planned preventive maintenance ?
(A) Overtime costs reduced

(B) Reduced risk of problems

(C) Reduced no. of repairs

(D) All of the above

In 1947, lakes in Haryana was
built when two small hillocks were joined.
(A) Karna Lake

(B) Badkhal Lake

(C) Hathni Kund Lake

(D) Damdama Lake

Kushana period is famous for the .h
of this Greco-Roman Art

(A) Gandhara Art

(B) Mathura Art

(C) Vesara Styleof Art

(D) Nagara Style of Art

MnO,+ 4HCl - MnCl, + 2H,0 + CL,. This
reaction is ' -

(A) Displacement reaction

(B) Precipitation reaction

(C) Redox reaction
(D) Combination reaction

In Haryana, ‘Maharishi Valmiki’ Award
is given by 4

(A) Haryana Urdu Akademi

(B) Haryana Punjabi Sahitya Akademi
(C) Haryana Sanskrit Akademi

(D) Haryana Hindi Akademi
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(A) 729 ®B) 4
(C) 305 (n) 343
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A) T Ha

(B F2@d

(C) &fari 33 Fa

(D) gHeEH i

I T 38 il -1 A Frra = e
g R

(A) TER AT

(B) 7 3T

(C) 31 i JaT et

(D_L:méaﬁrrmfﬁﬁ

MnO,+ 4HCl - MnCl, + 2H,0 + CL 9=
AT |
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English Langunge

i [

wllowing rentonce to find ou

" 1 4 ; : i e
- f“w iy orror in it I'he orror,
wr thoret |.' I”"" ||r1hu noenteneo,
of that part with error

h’t'ml

whetl . . ,
irany. will he inot

Mark the alphnbet
YEWOT

s

ns .\'Il'l.ll'l . :
I w/foree of what/you snid that/
f wi!

(A\) () 2 ,((")
II'I'“I" me (‘h""lu‘ my docinion,
D)

In the following flmmtiun.'cluumu.i.lu‘:
appropriate word from the {.{I'\"(‘II u|:l.u.mu
to complete the sentences, |llf:! oplion
given are confusing words which ]l}tly
have similar meanings. Svlec(l. the option
which best fits the meaning ol the

sentence.

8

The piston is a/an part of an
internal combustion motor.

(A) consequence

(B) importance

(Q)._ essential

(D) significance

Fill in the blank with suitable artic!
from the alternatives given below t* .
sloth is too slow to run

(B) An
(D) None of these

dce,

(AX The
© A

In the following question, a sentence has
been given in Active Voice (or Passive
Voice). Out of the four alternatives
suggested select the one which best
expresses the same sentence in Passive
(or Active) Voice.

Please help me

(A) You were requested to help me
_(B) You are being requested to help me

(C) You are requested to help me

(D) You have been requested to help me

H?l

8.

89.

90.
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aly T, 30 #ra § |
(A) el (1) W
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(A) Wrmdﬁ'!?ﬂnnnmﬁ]qﬁﬁ
amiqm."iu;ﬁmﬁm]qmmmm
& o s , i 16 v ey

(B) STel S1egq 7% % =i 4 s o
a1er el ar a9 = g

(C) el 3wl i 37 1 g
AT 1 e ) Sreft 2

(D) %78 @ it 7

mﬁaﬁﬁf‘mm%%@%iﬁm_____
o8 =1 v frn s 2

(&) e forg (B) At firg
QfmmfE () wasEE

e g Rl A e s
e B |

(A) 9T

(B) St

(C) w5

(D) T ¥ 1S 7
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